Mother's Arithmetic + Simple Interest

Simple Interest [ Part - ILIII ]

A sum of T 4000 is lent out in two parts, one
at 8% simple interest and the other at 10%
simple interest. If the annual interest is Rs.
352. The sum lent at 8% is

T 4,000 F TS T A o W S A E TR 9 8%
TIRM =1 TR & T 49 10% FER0 =0 T I
i = T 352 B, 91 WO At a9 8% e

IS 9T e AR 7
(A) ¥ 2,900 (B) ¥ 2,200
(C) T 2,400 (D) ¥ 3,100

A person takes a loan of ¥ 10,000. He takes
one part at 8% annual rate of interest from a
hank and other part at 10% annual rate of in-
terest from another bank. In the end, he pays
< 950 per vear as total interest. Accordingly,
what is the loan amount he has taken from

first bank (in ¥ )?

T = T 10,000 F1 W TAT € | SHHE TF 97 98 8%
TR o7 it T W UF 9 5 o & 3R 10% it s
T T TR ST 9FT R A § T S | ST, o8 Tl AN %
T H T 950 1 MU A FI0T & | TSI TR Teel A
T T T T (T ) R e ?

(A) T 2500 (B) T 5200

(C) T 2050 (D) T 5020

A sum of ¥ 15,600 is invested partly at 7% per
annum and the remaining at 9% per annum
simple interest. If the total interest at the end
of 3 vears is ¥ 3,738, how much money was
invested at 7% per annum?

T 15,600 =t uf 7w T H 7% R e FrwE ofw I
[T 9% T = TR = =i R o e s g |
A% 3 o % I7AE A AW T 3,738 © A fraet i 7%

T = =i T T e R {CPO 2019)
(A) T 7,800 (B) T 7,900
(C) T 7,600 (D) T 7,700

A person has ¥ 2000. He lends some money
at simple interest rate of 5% and remaining at
4%, per annum. He receives I 92 as interest in
1 vear. Accordingly how much money he lent

at 5% rate?

TF = F 99 T 2000 139 T T 5% TERT A
R R ITT 4% IR U138 Tm o # 307 T 92
= F T H HET | 958N, ST 5% i W R T 3um
Fug?

(A) ¥ 1,200
(C) T 1,205

(B) ¥ 1,050
(D) T 1,100

Arun lends ¥ 20,000 to his two friends. He lends
T 12,000 to his first friend at simple interest at
rate of 8% per annum. Arun wants a profit of
10% on his total amount. So, at what rate of
interest, he should give remaining amount to
his second friend so that he can earn desired
profit?

3189 ¥ 20,000 314 3 ] i YN Sl 2 | 9% gl o
=1 T 12,000, 8% it WIURO SIS i &€ T a1 & |
STHO AT el T TR 1 0% o1 =l | 37: 39 99 qfer
TR < B T Ufad R sae &6 X W A =fE,

TIfer 34 sfea oy fie g 7
(A) 8% (B) 16%
(C) 12% (D) 13%

Mr. Dutta wants to deposit T 3 lacs of retire-
ment benefits partially in post office and partly
in bank at interest rate of 10% and 6% respec-
tively. If his monthly income from interest is
2000, then what was the difference between

money deposited in post office and bank?

. 5 317 3 AR T % HAfE T A @l ;S H
SR ST FHH FH: 10% SN 6% % 5T R STH HT
=T # | afe STl Hifesh =8 39 2000 T9 7, 1l SHE
AR Sk F e w5t U H fopern st o ?

(A)¥ 1,00,000 (B) T 40,000

(C) ¥ 50,000 (D)ZT 0

A sum of Rs 3100 is lent out at simple interest
in two parts. One at 8% per annum and an-
other at 6% per annum. If the total annual in-
terest is Rs 212, then what is the money (in
Rs] lent at rate of 8%7?

3100 & it TF SO0 S 9 H SR S TWOSE 5
T T | TE TR 8% T G T AAT S 9 W 6% FH T H
T < % 1 A T A o 212 F. ¥, 8% W R
= afy (T H) TR ?
{A) 1000

(C) 1300

(B) 1250
(D) 1400

A sum of 10,200 is invested partly at 8% per
annum and remaining at 6% per annum for 3
vears at simple interest. If the total interest is
% 2,124, how much money was invested at 6%
per annum?
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Mother's Arithmetic * Simple Interest

10.

11.

T 10,200 =i U7 1 31Tk =7 4 8% wig =19 i srq ufy
T 6% T 9 TER =4 R X W 3 Jut 7 e e e
1 | 9fE el = T 2,124 T, W 6% WiT o W W W

Tepa=t i = Teren i wm o 2
(A) T 4,900 (B) T 5,200
(C) T 4,800 (D) T 5,400

A person invested one-fourth of the sum of ¥
25,000 at a certain rate of simple interest and
the rest at 4% p.a. higher rate. If the total in-
terest received for 2 vears is ¥ 4,125. What is
the rate at which the second sum was in-
vested?

T AT € 25,0000 %1 Ui % Th-=TE IR 1 FIER0
T T A ST SR 9™ U W 4% WA a9 A
Toa X R Tow w7 1 afg 2 e % fow e T 4,125
iR 1 B [ b e e A R R e B e el 1

ot ?
(A) 9.5% (B) 9.25%
(C) 5.25% (D) 7.5%

A sum of ¥ 15,600 is invested partly at 7% per
annum and the remaining at 9% per annum
simple interest. If the total interest at the end
of 3 vears is ¥ 3,738, how much money was
invested at 7% per annum?

% 15,600 = uftr #Aifees w1 ¥ 7% 7t = 1 51 4 siw m
TN 9% TR T TR 711 ! &L & Teren P s s |
=g 3 & % vgeId B A 3,738 7 1 ot il 7%
TiftT = st 5T R frere i

(A) ¥ 7,800

(B) X 7,900

(C) ¥ 7,600

(D) T 7,700

Sandeep invested a total amount of T 16 lakh.
A part of its was invested in a fixed deposit
earning 7% annual interest, and the remain-
ing amount was invested in two other depos-
its in the ratio 3 : 2, earning annual interest
at the rates of 4% and 1.5%, respectively. If
the total annual interest income is ¥ 64,000
then the amount (in ¥ lakh) invested in the
other deposits was?

Hew 7 Fa T 16 @@ 1 Ay e s uw e
At S H 7% Tt w52 R e R T o e
39 qf@ 3 : 2 % g H < st e | few i e o,
T 4% AR 1.5% = T H AT w00 F 1 =l o0t 1A
T i o @ T 64,000 T, @ 1= weit # fam
i T Tl (g T H o) |
(A) 4

(€) 8

(B) 10
(D) 12

12,

13.

14.

15.

16.

Deepu invests some money in two banks in
the ratio 3 : 2. The rate of simple interest on
first investment is 17.25%, but overall annul
interest on total investment is 23.25%, if
simple interest received in second investment
is ¥ 1290. Then find his total investment?

T TS T T AR R 3 ; 2 o ue H FEw A e
TEH SR W T 17.25% A Al G AA SRt & A E Fel
T = 3 23.25% oA o W BT E | ST gEY H
39 T 1290 =119 &1 € A ST 4= H Tt P fEw
T ?

(A) T 17,335 (B) T 10000
(C) T 11,335 (D) ¥ 10,335
(Type-3)

¥ 5,000 amounts to ¥ 5,700 in one year. Ac-
cordingly, what will be the amount ¥ 7,000 be-
come at same rate of simple interest in 5

years?

e o H T 5,000 FgH T 5,700 €I S & | 9@, 5 Nt
A, S FER 59791 F1 5 W T 7,000 Frad g s ?
(A) T 12,700 (B) ¥ 7,700

(C) T 10,500 (D) T 11,900

A certain sum becomes T 12,900 and ¥ 14250
at the end of 4 years and 3 years respectively

at simple interest rate. Find rate of interest?
HiIT LTS HISRO = i o & 4 99 9497 5 99 o 39
H wwHE: T 12,900 X T 14,250 1 56T € | &9 &
T ?
(A) 10%
(C) 18%

(B) 12%

(D) 20%

At simple interest rate per annum a certain
sum amounts to T 5182 in two years and ¥
5832 in 3 years. then principal in ¥ is—

TR A Tl ArER =l i afis R 2 96 | T 5182
AN 3 7 ° T 5832 71 ST &, A1 Jeiud Fary ?

(A) ¥ 2882 (B) ¥ 5000

(C) T 3882 (D) T4000

A sum invested at simple interest becomes T
306 at the end of 5 years. If interest is equal

9
to _j—_th part of principal, then what is rate
LD
percent per annum ?
HIER =AW AT T i s g A H T 306 8
"o -9 - -
ST & | =fE =S geeH > T ok S Z, T =4 &
aAfifer T e —
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Mother's Arithmetic + Simple Interest

17.

18.

19,

20,

21.

1., 2.
[A) 6%, [B) 73% (C] Sg% [D] 10%

What is the rate of simple interest for the first 4
yvears? If the sum of ¥ 360 becomes 540 in 9
years and the rate of interest for the last 5 years
i86%.

HTH ST it Uge] 4 Tl ol & 91 &4 2 a5 T 360, 9 74
H 540 21 <1 ¥ wen 37fd 5 o6t % oy == 1 W 6% B
(A) 4% {B) 5%

(C) 3% (D) 6%

A sum of money invested for a certain num-
ber of years at 8% p.a. simple interest grows
to ¥ 180. The same sum of money invested for
the same number of years at 4% p.a. simple
interest grows to ¥ 120 only. For how many
yvears was the sum invested ?

Tk IR 8%, A1tk AremR =6 i <X 9 ffv=a o9= 4
T 180 21 S & | 72T st 4% anfien sram = &
TR TAE W T 120 ¥ S, @ 90w ww
YFTT PR T 3 T T = g ot ?

(A) 15 years / = (B) 20 years / =4

(C) 22 years / =1 (D) 25 years / =1

T 2000 is invested at 10% p.a. on S.1. If that
interest is added to the principal after every
20 years. After how many years the amount
will become T 14000 after 5 years of invest-
ment?

T 2000 = 10% T Tem =5 o T e e s
#1797 TR 20 T 3 A 59 A e e o g, b
w5 uma % forae et = i@ T 14000 1 9wt ?

1 2 1
(A) 335 yrs(B) 33 vrs (C) 325 yrs (D) 285
yrs
A certain sum at sime interest amounts to ¥
1350 in 5 yr and to T 1620 in 8 yr. What is the
sum ?
RIS T HHR =S W5 A9 H T 1350 AR 8 U H T
1620 21 <t € | T €

(A) T 700
(C) T 900

(B) T 800
(D) T 1000

A certain sum becomes Rs 1020 in 5 years
and Rs 1200 in 8 yvears at simple interest. What
is the value of principal ?

T AT FHE AT R 5 TN W 1020 F, 997 § A6 A
1200 %. g1 ST ¥ | e w0 7F FE 7

(A) 820 (B) 780

(C) 700 (D) 720

22.

23.

24.

25.

26.

A certain sum of money amounts to ¥ 1008 in 2
vears and the same sum of money amounts to
¥ 1164 in 3 years and 6 months at simple in-
terest. Find the sum and the rate of interest.
T = SAaty wemT ors W 2 9% H € 1008 TH 3
=1 6 AT | T 1164 Fl ST § | HerH U =4S i S W
e |

(A) T900, T8 14%
(C) T700, T8 12%

(B) T 800, T 13%
(D) T 800, T 19%

A certain sum amounts to ¥I81840 in 3 years
and to ¥92400 in 5 years at x% per annum
under simple interest. If the rate of interest
becomes (x + 2)%, then in how many years
will the same sum double itself?

o ffie Ut wrum = % Ted x% afa o w3
# T81840 R 5 =l # T 92400 T A & | e =t =i
T (x + 2)% TG T, d TAE iy R o # ot e

SATAT B e ?
(A) 8 (B) 10
(©) 20 D) 12

A sum of ¥ 9500 amounts to T 11495 in 2
vears at a certain rate percent per annum, in-
terest compounded yearly. What is the simple
interest (in I) on the same sum for the same
time and double the rate?

T 9500 = T 2 = # = My o whwa 7 W
11495 21 Sl €, =11 A1ftes w0 d gartsr giar g | 99F
TN TR THH T S G ST 4R = (T H) FRa

27
(A) 3990 (B) 3420
(C) 4560 (D) 3800

A sum of money lent at simple interest be-
comes after 5 years. Find the rate of interest
per annum.

TR AT T A TG T SR 2 7 o 90 T 9,920 e
5= o A ¥ 12,800 §1 <1 & Afies e a2 3 & ?
(A) 18% (B) 9.68%

(C) 12% (D) 6.57%

A loan amount at simple interest ammounts to
7 6,240.80 in one year and ¥ 7,563.20 in 4
vears. Find this amount ({in ) and the rate of
interest per annum respectively.

T S T H0 000 T = 7 T6,240.80 791 4
=i # ¥ 7,563.20 B ST § | hH9: 9% gAry (3 H) AR
B ST =l T T T 2
(A) 5,800, 7.6%

(C) 6,200, 8.5%

(B) 6,200, 7.6%
(D) 5,800, 8.5%

[MATHS (SSC, CDS, Railway) 2 T & gege dotel "MATHS With PAWAN RAO" Tt TeigbTSa 2b3aT ol :ﬁa




Mother's Arithmetic * Simple Interest

Solution

1.

(©)

(A)

(B)

352
= %100
R 4000
R, =838%
By alligation
8% /10"0
8.8%
2

3
So, sum lenl al 8% = 5 % 4000 =T 2400

9 )
OS5 al %= ———x100=95%
Interest on Lolal 10,000

From allegation

First Second
8% 10%

..
AN
03 1.5

1 :
Loan [rom firsl Bank =
Total amount

sum of ratios Oritginal ratio

=T =2500

10,000

Interest rate for 3 years

3738 o _ 623,
= o =
15600 26

Using alligation—
7 % 3% 9 X 3%

Yo

623,
26
Multiplying by 26

Yo

546 702

~N S

623

SN
79 7V

= Ratio of principal = 79 ; 77
15600

70177 <79

= Money invested at 7% =

15600
= 156 x 79 =7900 Rs.

o2 * 100 16

=" = .r!‘r = 4 %
2000 0" e
From alligalion-
5% 4%
46
VRN

0.6 0.4

6 : 4

3 : 2

Total amount
venald% =" - .
Amounl given al 3% sum of ratios

2
= 200 51200

3
5. (D) Firstfriends=3%12,000; Second friend=7%

6.

(D)

©

8000
Accordingly to question—

8 X 10
12000x ——+ 8000 x —— =20000x —

100 100 100
= 960 + 80x = 2000
= 80x = 1040
= x = 13%
Second Method :
By Allegation :-
% /x%
10%\
x-10 2
x=10 3
2 2
x = 13%

Total yearly income from interest
=12 x 2000 = 24000
10% 6%
30000 18000
/
24000

T
6000 6000

1:1
So difference should be O,
8% 6%
248 186
\i &/
212
Ul it

13:18

3100
31

Money lent at 8% = x 13 =1300
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Mother's Arithmetic + Simple Interest

(D) Interest rate of 3 years 10. (B) Interest rate for 3 years
2124 3738 100 623 o
= = x = O
10200 ~ 190 15600 26
254 US1£1g alligation— X
= Iz 9 7 x3% 9 % 3%
Using Allegation, 623 04
8 x 3% 6 x 3% 26
354 Multiplying by 26
17 %o 546 702
Multiplying all these terms by 17 ~N S
623
408 306
79 7V
/35 \ — Ratio of principal = 79 : 77
15600
48 54 = Money invested at 7% = 29177 > 79
=24:27=8:9
15600
10200 = =
Money invested at 6% rate = 17 x 9 156 X 79 =7900 Rs.
— 75400 11. (D) Tolal money =16 lakh
Fixed deposil =7%
) 4125 Other investment = 3 : 2
(B) Mixed Per year Sl rate = ~— -~ * 100 Rates of other investment = 4%, 1.5%
{respectively)
_ 33 Other's interest 3 : 2
4 4%  15%
1 a
Let SI rate of Zpart =X Over all = 125+ Yo ? = 39,
using allegation
‘4 _ 0.64 64
x § Over all interest = Br x 100 = I 4%
L F.D Other
e 7% 3%
multiplying it by 4 49,
+
* e 1 : 3
33 4 —  16lakh
~ 1 >  4lakh
4x - 17 33 - 4x
ATQ, Cthers deposit =3 x 4 =3 12 lakh
4x-17 1 Fixed deposit = 1 x 4 =3 4 lakh
33-4x 3 12, (B) 1®interest = 17.25
= 12x-51=33-4x Total interest = 23.25
— 16x =84 17.25% P2
= X= 2 23.2500
4 (P-23.25)% : 6%
2 l 30 < 2(}/()
e ond= — +4=9259 :
Sl rate of second 4 4=925% (P - 23.25)% 3
D0 2
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Mother's Arithmetic * Simple Interest

P=23.25+9=32.25%
32.25 - 1290
1 — 40
100% - T 4000
Money 3 : 2
4 <2000
4000

Total money = 2000 x 5 =¥ 10,000

(Type-3)

= 5700 - 5000
700

5.1.x100
PxT

13. (D) One year of 5.1 18. (D)

R% =

700x100

30001
S.I % aller 5yrs. =14 x 5 =70%

AW

7000 P 4900
K=
100

So, Amounl Afler five years =7000 + 4900
= 11900

= 5.1, of five years =

14. Accordingly Lo queslion- 19. (D)
infour years P+4S51 = 12900
infivevears P+551 = 14250
From eq. (i) and eq. (ii)
S = 14250 - 12900
= 1330
Principal =12900 - 4 x 1350
= 37,500

1350x 100
7500

D)
i)

=

0

So, Rale % =
15. (O lvearSI=630; 2 ycar SI=1300
= Principle = 5182 -1300 = T 3882

9
Inlerest = 25 " Principal

16. (B)

9
% Interest = 5= 100=36%

% Rate x Time =36%
% Ratex5 = 36

71y

5 5

=

=}

= % Rate =

17. (B) Principle Amount = 360 20. (@)
Rale [or firsl 4 year =R%
Rale forlasl 3 year=6%

Interest amount = 340 - 360 =T 180

ATQ,

360xRx4+360x6x5

180= "5 100

1502 360
== 100

— 50 =4R + 30
_20_
- -

x (4R + 30)

=R 5%
P+ 8% p.a. inleresl for nyears =3 180..... (1)
P+ 4% p.a.inlereslt for nyears =3120.....(2)
Sublracling eq. (2) from eq. (1)
We gel4% p.a. inleresl on principal for n years =
T 00
Pul this value in cg. (2)
Principal + 60 =120
Principal = T 60
Fromeq. (1)
SIx100 120 x100
PxR  60x8
> n =25 years

Time (n) =

Principal = ¥ 2000

2000 x 10 x 20
Interest for 20 years =——— ————

100
=¥ 4000
After 20 years Principal = 2000 + 4000
= 6000

Let Simple interest on ¥ 6000 for n years
be 8000

6000x10xn

= 8000
- 100
40 1
=n=——=13_yrs
3 3

1 1
So, total time = 20 + 135 = 335 YVIs

So, required answer is 33 % yrs — 5 yrs

1
= 28— vrs
3}’

Let A =T 1350 A,=3 1620, t = Syrand t,=
8 vyr.

Let principal amount be T P

S Intime=8-5=3yr
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Mother's Arithmetic + Simple Interest

21.

22, (B)

23. (B)

D) 5 vear amounl =1020

Simple interest will be 1620 - 1350 = 2
270

24. (A)

0
In Syr, simple interest = x 5 =34350
o Principal, P=A-51=1350-450=P=¢
900

8§ vear amounl = 1200

3 year S.I = 1200 - 1020 = 180
1yearS.L =60

5Year 5.1 =60 x 5= 300
Principal = 1020 - 300 =¥ 720

Let the principal be ¥ x.
ATQ,
x +S.L for 2 years =3 1008

7
x +5.1. for 5 years =31164
By equalion {ii) - (i)

3
S.L for o years
T (1164 -1008) =T 136
SI for 2 years
156 x2x2

3

=3 208

From equation (i)
x + 208 = 1008
x =3 (1008 - 208) = T 800

S1x100
Principal x Time

-~ Rale =

208 x 100

—_— 1 - - w
800 x 2 Per annum 13%

2yr. S.I. = 10560
1vyr. 8.1. = 5280
P= A - Interest
P=81840- 15840
P=66000

SI_PRT
7100

66000xRx1
100

5280 =

_eo 528
X 66 (8]

R=(x+2)=8+2=10%
100

= T0

= 10 vears

2 yr. 8.[. = 11495 - 9500
= 1995

o o PRI
7100

1005 9500 x R x 2
- 100

21=2R

9500x2x21
100
=95 x 42 =33990

New S.1. =

3 yr. 8.1 = 12800 - 9920 = 2880
2880
Lyr.8.1.= =———=960
P = 9920 -2 x 960 = 8000
o[ o PRT
7100
060 - BO00 X Rx1
100
R= 2= 129
= 5= 12%

3yr. 8.[.=7563.20-6240.80
1322.4
Lyr. 8.1. = 440.8
P=6240.80-440.8

= 5800

o[ - PRT
100

5800 xR x1

440.8 =
100

R=7.6%
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